Math2210 Midterm 1
Answers to Even-Numbered Review Problems

Chapter 10 Review (pg 553)
Sample Test Problems

#26x = L #28% _ y2 =1
4 4

#30 Tangent Line: x + 6y —6 =0 #32 L =2m?

Chapter 11 Review (pg 613-615)
Concepts Test Problems
#2 False, #4 False, #6 False, # 8 True, #12 True, #14 False, #16 True,
#20 False, #22 False, #24 False, #26, True, #28 False, #40 False

Sample Test Problems #1-19 all, 21, 25-27 all, 30-41 all, 43, 44
#2 Center: (3,-1,4); radius: V26,
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#4qQ. \/ﬁ ~ 0.3363, b. _\/ﬁ ~ 0.5369 C. R ~ 0.9806
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#60.60 = cos™10.121716 =~ 83.009° b.6 = cos™10.67200 =~ 47.608°
#8a.-5(1,1,-1), b. (6,—2,10), c.20, d.{4,3,-5)

+(6,3,5)
#10 N

#120.(x —2,y+4,z+5) b.5x-4y+8z=-14 c.

#14. 7x -3y+9z=-4, #16 (0,25,16), (-50,0, 16)
#]8 x_—4=E=ﬂ #26 i % -t % i - -t\ _
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b. r'(0)=(2,-1)

c. I:z(ez",e">dt

d. D, [r(@®]=m'(t)+r(r)
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e. D,r(3:+10)]=[r"'(Gt+10))(3)
- 3(266f+m. _8-31—10)
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f. Dr()-r'(@®]=D2e* -]
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